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Exam A 
 
QUESTION 1 
Which command can be used to verify if a backup stgpool command finished successfully? 
 

A. Q LOG 

B. Q ACTLOG 

C. Q PROCESS 

D. Q STGPOOL 

 
Answer: B 
 
 
 
 
 
QUESTION 2 
What is the minimum size of active log? 
 

A. 2 GB 

B. 13 GB 

C. 128 GB 

D. It depends upon the file system size 

 
Answer: A 
 
 
 
 
 
QUESTION 3 
Which option disables deduplication when using update scgpooi? 
 

A. DUPLICATE=NO 

B. DUPLICATE=OFF 

C. DEDUPLICATE=NO 

D. DEDUPLICATE=OFF 

 
Answer: C 
 
 
 
 
 
QUESTION 4 
An IBM Tivoll Storage Manager Tivoli Storage Manager) administrator checks daily the Tivoli 
Storage Manager activity log for errors and warnings This task is a manual process that 
should be automateD. What should the administrator do? 
 

A. Create a script and run it daily f rom the command line. 

B. Create a script and a client schedule to run it daily automatically. 
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C. Create a script and an administrative schedule to run it daily automatically. 

D. Use the Administration Center, select Define Script, and then select "run daily". 

 
Answer: C 
 
 
 
 
 
QUESTION 5 
Which type of storage pool can use either a sequential access device class or a random 
 

A. active-data pool 

B. copy storage pool 

C. primary storage pool 

D. deduplicated data pool 

 
Answer: C 
 
 
 
 
 
QUESTION 6 
After a scheduled backup to IBM Tivoll Storage Manager Tivoli Storage Manager) performed 
by Tivoll Storage Manager client node, it has been found that few files have been skipped or 
not included in backup for some reason. Which two logs from backup-archive client should 
be checked as an initial step to get information of schedule operation failure? Choose two.) 
 

A. activity log 

B. error report from operating system 

C. dsmerror.log file located in backup -archive client installation directory 2 / 14 
Collected by http://www.facebook.com/IT.Exam.Share Download from 
http://www.killtest.com/ The safer , easier way to help you pass any IT exams. 

D. Dally Operational Report generated by Tivoli Storage Manager server 

E. dsmscheD. log file located in backup -archive client Installation directory 

 
Answer: CE 
 
 
 
 
 
QUESTION 7 
What occurs when the archive log runs out of space? 
 

A. An archive log mirror is createD. 

B. Afailover archive log Is createD. 

C. The IBM Tivoli Storage Manager server halts. 

D. Data begins being deleted from the IBM Tivoli Storage Manager server 
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Answer: C 
 
 
 
 
 
QUESTION 8 
An IBM Tivoli Storage Manager administrator receives a call from a client complaining that 
backups are taking twice as long as usual. The administrator decides to run a manual 
backup to check the client's performance and the backup completes. Where should the 
administrator look to review the statistics of the backup that was completed? 
 

A. on the server in the event.log 

B. on the server in the activity log 

C. on the client in the dsmerror.log 

D. on the client in the dsmscheD. log 

 
Answer:  
 
 
 
 
 
QUESTION 9 
Which two statements are true about shredding sensitive data? Choose two.) 
 

A. I/O response time is improveD. 

B. Performance for shredding data is faster. 

C. Discovering and reconstructing data Is easy. 

D. Data is overwritten one or more times after it is deleteD. 

E. Shredding can be done either automatically or manually 

 
Answer: DE 
 
 
 
 
 
QUESTION 10 
Which command can be used to display information about all volumes checked into an 
automated library for use by the IBM Tivoli Storage Manager server? 
 

A. Q MEDIA 

B. Q LIBVOL 

C. Q VOLUMES 

D. Q CONTENTS 

 
Answer: B 
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QUESTION 11 
On a Windows platform, what is the purpose of the include/exclude list in the dsm.optfile? 
 

A. which files are scheduled to be backed up 

B. to ensure the IBM Tivoli Storage Manger client password is encrypted 

C. that the include/exclude list does not apply to the Windows dsm.optfile 

D. to specify the files to be treated differently from the DEFAULT management class 

 
Answer: D 
 
 
 
 
 
QUESTION 12 
Which two privileges should an administrator have to perform AUDIT LIBRARY process for 
IBM 
 
3 / 14 
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Tivoli Storage Manager? Choose two.) 
 

A. analyst authority 

B. policy privilege 

C. system privilege 

D. operator privilege 

E. unrestricted storage privilege 

 
Answer:  
 
 
 
 
 
QUESTION 13 
Which action must be taken to use a new active log directory? 
 

A. Use DB2 Administration Center. 

B. Edit the activelogdir server option and restart the IBM Tivoli Storage Manager server. 

C. Issue the server command set actlogdir and restart the IBM Tivoli Storage Manager 
server. 

D. Use dshserv utility with activelogdir parameter and restart the IBM Tivoli Storage 
Manager server 

 
Answer: B 
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QUESTION 14 
During start-up, the IBM Tivoli Storage Manager server is in the foregrounD. Several tapes in 
read-only and/or are unavailable. Which action will correct the status? 
 

A. MOVE VOLUME volid ACCESS=READWRITE 

B. UPDATE VOLUME volid ACCESS=READWRITE 

C. UPDATE LIBRARY volid ACCESS=READWRITE 

D. UPDATE VOLUME volid ACCESS=UNAVAILABLE 

 
Answer: B 
 
 
 
 
 
QUESTION 15 
Which statement describes IBM Tivoli Storage Manager message events? 
 

A. All events are always stored in the activity log and cannot be disableD. 

B. Only errors and warnings are stored in the activity log and cannot be disableD. 

C. All events are always stored in the event log and can be disabled with disabled event 
commanD. 

D. Only errors and warnings are stored in the event log and can be disabled with disabled 
event command 

 
Answer: A 
 
 
 
 
 
QUESTION 16 
An administrator of IBM Tivoli Storage Manager schedules a migration to move data from the 
DISKPOOLto TAPEPOOLfor local sequential copy, but he also wants to keep the data on 
DISKPOOL for faster restore to improve performance. Which option will accomplish this 
task? 
 

A. CHANGE STGPOOL DISKPOOL ACCESS=READWRITE 
NEXTSTGPOOL=TAPEPOOL HIGHMIG=0 LOWMIG=0 CACHE=YES 
HIGPROCESS=2 H1GCONTINUE=YES 

B. UPDATE STGPOOL DISKPOOL ACCESS=READWRITE 
NEXTSTGPOOL=TAPEPOOL HIGHIHIG=0 LOWMIG=0 CACHE=YES 
HIGPROCESS=2 H1GCONTINUE=YES 

C. UPDATE STGPOOL DISKPOOL ACCESS=READWRITE 
NEXTSTGPOOL=TAPEPOOL HIGHMIG=50 LOWHIG=50 CACHE=NO 
HIGPROCESS=2 HIGCONTINUE=YES 4 / 14 
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D. CHANGE STGPOOL DISKPOOL ACCESS=READWRITE 
NEXTSTGPOOL=BACKPOOL HIGHMIG=100 LOWHIG=100 
CACHE=YES HIGPROCESS=2 H1GCONTINUE=YES 

 
Answer: B 
 
 
 
 
 
QUESTION 17 
A customer has a 3584 library with 1000 tape volumes. All of the tape volumes are in IBM 
Tivoli Storage Manager library inventory with private and scratch status. Now the customer 
wa nts to know the total number of 'Private' volumes by SQL commanD. What is the correct 
SQL statement for an automatic count? 
 

A. SELECT * FROM volumes WHERE scatus=1Private1 

B. SELECT * FROM libvolumes WHERE scatus=1Private1 

C. SELECT COUNT*) FROH volumes W HERE status=1Privace1 

D. SELECT COUNT*) FROH libvolumes WHERE status=1Privace 

 
Answer: D 
 
 
 
 
 
QUESTION 18 
If a symbolic link points to a directory, the backup depends on how the directory Is specified 
on the commanD. If a directory is specified with a trailing slash on a selective or incremental 
backup command, how does the client save the symbolic link? 
 

A. The client only backs up the path information. 

B. The client does not back up the contents of the target directory. 

C. The client saves the symbolic link as a dire ctory, and backs up the contents of the 
target directory. 

D. The client does not save the symbolic link and the contents of the target directory are 
not backed up 

 
Answer: C 
 
 
 
 
 
QUESTION 19 
Which statement will be added to the client's option file to assign a management class for a 
file for backup? 
 

A. MC=<management class name> 
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B. Accept policy <policy domain name> 

C. Backup <fully qualified file name> mgmtclass 

D. Include <fully qualified file name> mgmtclass 

 
Answer: D 
 
 
 
 
 
QUESTION 20 
On the Windows platform, where should a predefined custom) dsm.optfile be placed when 
installing IBM Tivoli Storage Manager V6.1 c lient? 
 

A. ...\CLIENT directory 

B. ...\CONFIG directory 

C. ...\BACLIENT directory 

D. ...\BACLIENT\CONFIG directory 

 
Answer: B 
 
 
 
 
 
QUESTION 21 
What should be done to remove all tape libraries and all data on tapes stored in library from 
IBM Tivoll Storage Manager Tivoli Storage Manager)? 
 
5 / 14 
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A. Delete the filespaces. 

B. Delete the volumes, the contents, the paths, and the library from Tivoli Storage 
Manager. 

C. Delete the contents of the volumes, check out all the tapes, delete the path, and then 
delete the tape library. 

D. Delete the contents of the tape volumes, and delete the tape drives, paths, device 
class and library from Tivoli Storage Manager 

 
Answer: D 
 
 
 
 
 
QUESTION 22 
An IBM Tivoll Storage Manger administrator has to determine why a backup failure occurreD. 
Which location is the best place to find the cause of the failure? 
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A. event.log 

B. cliact.log 

C. dsmerror.log 

D. IBM Web site 

 
Answer: C 
 
 
 
 
 
QUESTION 23 
What must be defined in order for migra tion to occur? 
 

A. mlgstgpool=<pool name> 

B. nextstgpool=<pool name> 

C. hlghmigpool=<pool name> 

D. cachestgpool=<pool name> 

 
Answer: B 
 
 
 
 
 
QUESTION 24 
In order to back up a MAS device to an IBM Tivoli Storage Manager Tivoli Storage Manager) 
native storage pool, set the destination storage pool in the copy group to point to the desired 
native storage pool. The destination storage pool provides the information about the library 
and drives used for backup and restore. When backing up a NAS file server to Tivoli Storage 
Manager native pools, the TOCDESTINATION may be the same as the destination of the 
NDMP datA. What is required for this to happen? 
 

A. Define a new copygroup for the TOC. 

B. Define a new device class for the TOC. 

C. Define a copygroup with the TOCDesc inacion parameter. 

D. Define a device class, by using the TOCDescinacion parameter 

 
Answer: C 
 
 
 
 
 
QUESTION 25 
When the recovery plan file is generated, processing can be limited to specified pools. The 
default at installation is all copy storage pools. Which command will change this? 
 

A. SET COPYPOOL 

B. Define COPYPOOL 
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C. Define DRHCOPYPOOL 

D. SET DRHCOPYSTGPOOL 

 
Answer: D 
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QUESTION 26 
Which encryption policy is used by the Library Managed tape encryption method? 
 

A. range or set of volumes 

B. dedicated storage pools 

C. enabled at tape drive level 

D. activated at COPY GROUPS definitions 

 
Answer: A 
 
 
27 .A Network Data Management Protocol NDMP) installation is growing fast with a large filer. 
For these large IBM Tivoll Storage Manager nodes, a faster backup method must be 
implementeD. Which method should be considered? 
A. SnapMirrorto Tape 
B. NDMP differential backup 
C. Incremental backup with NDMP 
Answer: A 
 
 
QUESTION 27 
What is the minimum level of authority needed by the administrator to query the sessions 
that are running on the IBM Tivoli Storage Manager server? 
 

A. Policy 

B. System 

C. Storage 

D. No privilege 

 
Answer: D 
 
 
 
 
 
QUESTION 28 
An administrator decided to automatically run the typical administrati ve tasks for IBM Tivoli 
Storage Manager Tivoli Storage Manager) starting from M igration to off-site movement of 
mediA. 
What is the most suitable choice? 
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A. Create DRM file on daily basis. 

B. Create a Server Maintenance Script. 

C. Define Schedules for different server process. 

D. An operator with STORAGE authority is required to run d aily Tivoli Storage Manager 
server task 

 
Answer: C 
 
 
 
 
 
QUESTION 29 
A company has changed its backup policy which will affect the backups of 250 Windows 
XP/2003/ 2008 clients that back up to a single IBM Tivoli Storage Manager Tivoli Storage 
Manager) server. The major change in the policy affects COMPRESSION, INCLUDE, 
EXCLUDE, TXNBYTELIMIT and RETRYPERIOD. The administrator wants to deploy this 
change to the Tivoli Storage Manager clients over a weekenD. What is the most efficient 
method to implement these options across all client systems? 
 

A. Modify all the dsm.opt files. 

B. updace dshopt with the common settings. 

C. updace clientopt with the common settings. 

D. Create a dsm.opt and copy it across all the client systems 

 
Answer: C 
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QUESTION 30 
Which two statements are true about DSMUPGRD upgrade utilities? Choose two.) 
 

A. DSMUPGRD utilities are run on the original database. 

B. DSMUPGRD EXPORTDB utility extracts data from a server database. 

C. DSMUPGRD PREPAREDB upgrades a server database version to V5.5. 

D. DSMUPGRD INSERTDB utility moves a server database into a new V6.1 database. 

E. The upgrade utilities prepare and extract data from an IBM Tivoli Storage Manager 
server version V5.2 or above server database 

 
Answer: AC 
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QUESTION 31 
Which command renames an existing client file space? 
 

A. Sec fllespace 

B. Modify filespace 

C. Rename fllespace 

D. Updace filespace 

 
Answer: C 
 
 
 
 
 
QUESTION 32 
Which command can be used to perform an automatic backup of the IBM Tivoli Storage 
Manager database? 
 

A. define dbbackup 

B. define dbbackuptrigger 

C. define databackup trigger 

D. define schedule backup_database type=administrative cmd="backup db type=full 
devclass=file" active=yes stsrttiioe=22:00 period=2 

 
Answer: D 
 
 
 
 
 
QUESTION 33 
The node name SERVER_NODE1 is performing backup to a collocated storage pool. Which 
two commands can show the IBM Tivoll Storage Manager administrator the name of the 
collocation group to which a node belongs? Choose two.) 
 

A. QUERY COLLOCGROUP F=D 

B. QUERY NODE SERVER_NODE1 F=D 

C. QUERY COLLOCHEHBER SERVER_NODE1 

D. QUERY NODEDATA SERVER_NODE1 COLLOGGROUP=YES 

E. QUERY STGPOOL COLLOCATE =NODE NODE=SERVER NODE1 F=D 

 
Answer: AB 
 
 
 
 
 
QUESTION 34 
Which two steps should be performed by an administrator of IBM Tivoli Storage Manager to 
make sure they have intact database backup volumes information and device definitions 
available? Choose two.) 
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A. Perform backup of volhistfile. 

B. Perform backup of devconfig file. 

C. Perform DB backup of Type=FULI_. 

D. Perform backup of dsmserv.dskfile each day 

E. Perform backup of dsmserv.optfile each day. 
8 / 14 
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Answer: AB 
 
 
 
 
 
QUESTION 35 
A client node named WINSRV009 is already defined in the IBM Tivoli Storage Manager 
Server Tivoli Storage Manager) under the Policy Domain WINJDOMAIN. Its backup 
operation was taking too long and it decided to change its backup to send data directly to 
four tape drives by using LAN-free only. The paths to the drives were already define d for the 
WINSRV009 server. Which Tivoli Storage Manager command satisfies this condition? 
 

A. upd node BINSRV009 HAXHUHHP=2 DATAUr itepach=LAN Free 

B. upd node BINSRV009 HAXHUHHP=4 DATAUr itepach=SAN VALIdateprotocol=no 

C. updnode BINSRV009 HAXNUHHP=4 DATAWr itepach=LANFree VALIdateprotocol=no 

D. upd node BINSRV009 HAXSESSIONS=4 DATAWr itepach=SAN 
VALIdateprotocol=yes 

 
Answer: C 
 
 
 
 
 
QUESTION 36 
Some node data engineering) must be moved into another storage pool. There is only a 
small amount of data from one filespace to be moved into a backu ppool. What are the move 
data commands? 
 

A. move invencory node=engineering 

B. move daca fromstgpool=engpool tostgpool=ba ckuppool 

C. move cliencdaca fromscgpool=engpool tostgpool=backuppool 

D. move nodedaca engineering fromscgpool=engpool coscgpool=backuppool 

 
Answer: D 
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QUESTION 37 
Which statement is true about IBM Tivoli Storage Manager selective backup? 
 

A. It causes the server to update the date and time of the last archive. 

B. It expires backup versions of files that are deleted from the workstation. 

C. It rebinds backup versions to a management class if the management class has not 
changeD. 

D. It backs up directory and file entries even If their size, modification timestamp, or 
permissions have not changed 

 
Answer: D 
 
 
 
 
 
QUESTION 38 
The AIX Administrator informed that a "cfgmgr" command was issued at the IBM Tivoli 
Storage Manager Tivoli Storage Manager) server after maintenance. Which two commands 
help the Tivoli Storage Manager administrator verify if the device names of the tape drives 
should be changed according to the tape device information sent by the AIX Administrator? 
Choose two.) 
 

A. QUERY HOUNT 

B. QUERY PATH F=D 

C. QUERY DRIVE F=D 

D. QUERY DEVICE F=D 

E. QUERY LIBRARY F=D 

 
Answer: BC 
 
 
 
 
 
QUESTION 39 
In the data center of a company, the IBM Tivoli Storage Manager administrator has been 
asked to manage all information specified in the volume history file. The requirement is not to 
keep any information in the volume history file for more than 7 days. Which command should 
be put in an admin schedule to support this requirement? 
 
9 / 14 
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A. delete volhiscory cype=all codace=coday -7 

B. delete volhiscory cype=all codace=coday -8 

C. delece volhiscory cype=DBBACKUP codace=HM:DD:YYYY 

D. delece volhiscory cype=all codace=coday -6 cocime=23:59:59 
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Answer: A 
 
 
 
 
 
QUESTION 40 
What is the maximum number of copygroups that can be assigned to a management class? 
 

A. one 

B. two 

C. three 

D. no limit 

 
Answer: B 
 
 
 
 
 
QUESTION 41 
A new administrative schedule did not run when it was sched uleD. What is the most likely 
cause? 
 

A. the priority = 0 

B. It was not active. 

C. The node was not registereD. 

D. It was not associated with a node 

 
Answer: B 
 
 
 
 
 
QUESTION 42 
The IBM Tivoll Storage Manager administrator wants to reduce restore times. Which action 
helps accomplish that objective? 
 

A. Increase scratch volumes. 

B. Enable collocation groups. 

C. Shorten the client backup window. 

D. Enable collocation on the random access storage pool 

 
Answer: B 
 
 
 
 
 
QUESTION 43 
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Which client options are only stored in the local option file for the client? 
 

A. domain 

B. tapeprompt 

C. communication method 

D. include/exclude statements 

 
Answer: C 
 
 
 
 
 
QUESTION 44 
What is a characteristic of active-data pools? 
 

A. It can accept use of Collocation. 

B. It can use DISK or FILE device classes. 

C. It can be used as a primary destination for backed -up files. 

D. It can accept DESTROYED access mode on the pool volumes 

 
Answer: A 
 
 
 
 
 
QUESTION 45 
IBM Tivoli Storage Manager Tivoli Storage Manager) reporting and monitoring feature does 
not have an option to create custom reports for Tivoli Storage Manager, however a client 
wants to create 
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their own custom report. Which additional software is required to enable this feature? 
 

A. Crystal Reports 

B. Promodag Reports 

C. MicroStrategy Reporting Suite 

D. Business Intelligence and Reporting Tools 

 
Answer: D 
 
 
 
 
 
QUESTION 46 
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What is the minimum authority level to set the scheduling mode on the server or client? 
 

A. System Privilege 

B. Storage Privilege 

C. Standard Privilege 

D. Schedule Privilege 

 
Answer: A 
 
 
 
 
 
QUESTION 47 
The IBM Tivoll Storage Manager client can use the VSS operation. What are the three 
purposes of this operation? Choose three.) 
 

A. image copy 

B. image backup 

C. Open file support 

D. incremental restore E. incremental backup F. Systemstate backup 

 
Answer: BC 
 
 
 
 
 
QUESTION 48 
A system administrator is unable to delete a stgpool. Which two causes are possible? 
Choose two.) 
 

A. f admin has system privilege 

B. f device class still exists of stgpool 

C. f there Is not a single volume assigned to the stgpool 

D. f there Is still at least one volume defined to the stgpool 

E. f stgpool is identified as the next storage pool for other storage pools 

 
Answer: DE 
 
 
 
 
 
QUESTION 49 
What happens if two administrative schedules conflict, trying to start a t the same time? 
 

A. Both schedules fail. 

B. Both schedules will be in pending state. 

C. The schedule with the highest priority lowest number) will run first. 

D. The schedule with the highest priority highest number) will run first. 
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Answer: C 
 
 
 
 
 
QUESTION 50 
Which command must be used to define a schedule that archive s specific files quarterly on 
the last Friday of the month? 
 

A. define schedule command with sched5tyle=enhanced parameter 

B. define schedule command with schedstyle=advanced parameter 

C. define clientaction command with schedstyle=enhanced parameter 11 / 14 
Collected by http://www.facebook.com/IT.Exam.Share Download from 
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D. define cl ient action command with schedstyle=advanced parameter 

 
Answer: A 
 
 
 
 
 
QUESTION 51 
Which command can be used to add an unlabeled tape to an autom ated library if 
autolabel=no, and make it available as a scratch tape? 
 

A. dsmc label 

B. label libvol 

C. checkout libv 

D. define volume 

 
Answer: B 
 
 
 
 
 
QUESTION 52 
What is the term for automatic data movement that frees up space on tape volumes by 
consolidating active data from fragmented tape volumes onto a single volume? 
 

A. migration 

B. collocation 

C. reclamation 

D. aggregation 

 
Answer: C 
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QUESTION 53 
Which command can be used to determine whether a given node is capable of LAN-free 
data movement? 
 

A. QUERY SAN 

B. QUERY SERVER 

C. QUERY LANFREE 

D. VALIDATE LANFREE 

 
Answer: D 
 
 
 
 
 
QUESTION 54 
To which file is the output directed when the schedule command is run as a service? 
 

A. dsmerror.log 

B. dsmscheD. log 

C. dsmschederror.log 

D. dsmschedstatus.log 

 
Answer: B 
 
 
 
 
 
QUESTION 55 
What does the revoke authority command do? 
 

A. It revokes privileges of IBM Tivoli Data Protections clients. 

B. It revokes privileges of IBM Tivoli Storage Manager administrators. 

C. It revokes privileges of IBM Tivoli Storage Manager backup -archive clients. 

D. It revokes privileges of IBM Tivoli Storage Manager administrators as well as backup- 
archive clients 

 
Answer: B 
 
 
 
 
 
QUESTION 56 
What is the correct step to check if an IBM Tivoli Storage Manager Tivoli Storage 
Manager)node is currently running a backup or restore? 
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A. Execute query process on the Tivoli Storage Manager server. 
12 / 14 
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B. Execute query session on the Tivoli Storage Manager server. 

C. Execute dsmc monitor backup on the Tivoli Storage Manager client. 

D. Execute dsmc query process on the Tivoli Storage Manager client 

 
Answer: B 
 
 
 
 
 
QUESTION 57 
An IBM Tivoli Storage Manager Tivoli Storage Manager) administrator has generated 
reportsfrom the Tivoli Storage Manager Monitoring and Reporting server which shows that 
there are many clients which cannot start their backups at the sched uled time every night at 
2200 hrs. Which parameter should be updated so that these clients' backups can be started 
at the same time? 
 

A. STARTTIHE 

B. HAXSESSIONS 

C. SCHEDULETIHE 

D. BACKUPHINDOW 

 
Answer: B 
 
 
 
 
 
QUESTION 58 
A managed server Is removed from a profile. Which command removes the profile 
association? 
 

A. DELete PROFILE 

B. DISALlocate PROFILE 

C. DELece PROFASSOCiacion 

D. REHove PROFASSOC iac ion 

 
Answer: C 
 
 
 
 
 
QUESTION 59 
Which command runs the expiration process for backup data for 2 hours with 3 threads on 
nodes A, B, and C? 
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A. expire invencory duracion=2 node=A,B,C cype=backup 

B. expire invencory duracion=120 node=A,B,C cype=backup 

C. expire invencory duracion=2 node=A,B,C resource=3 cype=backup 

D. expire invencory duracion=120 node=A,B,C resource=3 cype=backup 

 
Answer: D 
 
 
 
 
 
QUESTION 60 
From which URL can the IBM Tivoli Storage Manager Administration Center be accessed? 
 

A. http://machine_name: 1580/ibm/console 

B. http://machine_narne:9000/ibm/console 

C. https://machine_name:9044/ibrn/console 

D. https://machine_name:50000/ibm/console 

 
Answer: C 
 
 
 
 
 
QUESTION 61 
Which parameters should the backup copygroup have, to keep only the last backup copy of 
data indefinitely after the file has been deleted from the file system an d a daily incremental 
backup has been completed? 
 

A. verdeleted=0 reconly=nolimit 

B. verdeleced=l reconly=nolimit 

C. verdeleced=l retextra=nolimit 
13 / 14 
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D. verextra=l retextra=nolimit retonly=nolimit 

 
Answer: B 
 
 
14 / 14 
 
 
QUESTION 62 
Which option disables deduplication when using update scgpooi? 
 

A. DUPLICATE=NO 

B. DUPLICATE=OFF 

C. DEDUPLICATE=NO 

D. DEDUPLICATE=OFF 
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Answer: C 
 
 
 
 
 
QUESTION 63 
Which two privileges should an administrator have to perform AUDIT LIBRARY process for 
IBM 
 
3 / 14 
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Tivoli Storage Manager? Choose two.) 
 

A. analyst authority 

B. policy privilege 

C. system privilege 

D. operator privilege 

E. unrestricted storage privilege 

 
Answer:  
 
 
 
 
 
QUESTION 64 
Which encryption policy is used by the Library Managed tape encryption method? 
 

A. range or set of volumes 

B. dedicated storage pools 

C. enabled at tape drive level 

D. activated at COPY GROUPS definitions 

 
Answer: A 
 
 
27 .A Network Data Management Protocol NDMP) installation is growing fast with a large filer. 
For these large IBM Tivoll Storage Manager nodes, a faster backup method must be 
implementeD. Which method should be considered? 
A. SnapMirrorto Tape 
B. NDMP differential backup 
C. Incremental backup with NDMP 
Answer: A 
 
 
QUESTION 65 
A new administrative schedule did not run when it was sched uleD. What is the most likely 
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cause? 
 

A. the priority = 0 

B. It was not active. 

C. The node was not registereD. 

D. It was not associated with a node 

 
Answer: B 
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